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YTl TPEYTO/IbHIKA
Yron BAC npu 1 sepume A:
8 panviarax = 2.81984209919315
8 rpaaycax = 161.565051177078
Yron ABC npu 2 sepune B:
8 panviarax = 0.179853499792478
8 rpanycax = 10.304846468766
Yron BCA npu 3 sepume C:
8 panviarax = 0.141897054604164
8 rpanycax = 8.130102354156

LIEHTP TSXECTH
KoopawHaTsl Om(1; 1.33333333333333)

MEZNAHbI TPEYTO/IbHIKA

MeaviaHa AM1 U3 Bepluvbl A:
KoopavHaTsl M1(L; 1)
Dnuka A1 = 1

BBICOTH TPEVTO/BHHKA
BbiCOTa BH2 13 BepUMHS B:
KoopayHaTs H2(-2; 5)
Nnuka BH2 = 1.4142135623731
BbicoTa CH3 U3 BepuiHel C:
KoopayHaTs H3(5.8; -0.399999999999999)
Dnuka CH3 = 1.78885438199983
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